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I Analysis of exclusion of 07 from liability for nxmw
a  source: begin with source for exclusion of 0T from n%yn

i
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Now v, 1-mah
293757 v. 1 =993 — for atonement and not nYyn
72 77 v. 1 — RIn —its non-nY'yn state after Np» 1 is consistent before Np»™r as well
1 challenge: why not have it be consistent so that n%’yn applies before and after 1"n1?
2 answer: n°yn never applies after the process is complete (77771)
(a) challenge: 7'M n — after burning the nMaxy, the w7 is still vulnerable to n>yn
(b) answer: 7"mAn and (3”72 3”13 YV 129 *132) NNND YTHA are TNRI PRIAN PN VD PTRYN PR
(i) note: that is only valid according to the one who interprets v. 2 as barring any use of 312 ™2
(if) but: according to RovyT 1 (other 0N3> may use them) why not extend 7"mIn to n%5 NN 93?
1. answer: 7"mM N and nary n%y (v. 3) are TNRI DXRAN DN IV
2. question: this is only valid according to 7"n that pnTon PR TNRI DRI PN 2Y; but to N 7.7
a. answer: there are 2 D0Wn — NavIYN (v. 3) and MW (v. 4)
question: why 3 words in v. 1 to eliminate 7 from n5yn?
1  answer: 1 to exclude from n%yn, 1 to exclude from In and 1 from nrmv
(a) however: no need for exclusionary word from 519, as per our mwn — only n”»wT and 07is a 1nn itself

b tangential question (721117 “7): why 3 mentions of N7 in re: eating nkmva nnHw?

i

answer: 1 to set up the 593, one to be the 5531 Yy %Y R¥w V19 and 1 to include non-edibles
1 note: according to w™, who excludes non-edibles from nxnw, 3' mention for nYn?a MKRYN
(a) since: according to him, they are excluded from 59, X"10 they are also excluded from nxrmv — 9Y"np

I Analysis of w"’s opinion that any non-edibles are excluded from nxmv 7
a  dispute about range of nponn between 9"+ vs. R"1+R1n 7101 "1 (1 of each pair against the other two)

i
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version 1 (’n12v 37): 1 side — dispute only if meat (wood etc.) is 1o, but 9130 NrN — all agree no Man
1 other side: dispute ranges across both types of nkmv
(a) reason: once we apply v. 5 ("wam) and extend to non-edibles (1321), apply 1Y mMrRMLY (91N NRMV)-V. 6
version 2 (X712 ’7): 1 side- dispute only if man is Xnv; but if 9wa (i.e. wood) is ®nv — all agree to man
1 other side: dispute ranges across both types of nkmv
2 n27 this position seems more reasonable
(a) reason: if we cannot apply v. 6 (¥9Y INRMDY), we cannot apply v. 5 ("wam —extending to non-edibles)
(b) challenge: we learned (above) that the 2" mention of "wam (v. 5) extends to non-edibles
(i) answer: that is just to invalidate it (132771) but no consequenes of N1
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I 'y niwn:ideal intents at nVNY

nar ow - for an %Y and not, e.g. NV

N oWY — on behalf of the donor

N owY — for DHYN N INRY N

DWR DWY — and not to be cooked on the coals

N1 WY — and not to be roasted off-nam first

mn owY — ma nm (to 'n)

i and, in case of DwA1 nxvm: DWY the specific violation for which it is being offered

0 1 — even if he didn’t intend any of these, valid, as 7”2 *1n, since all intent follows the officiant
i note: this position is contra "o 72 MYHR "7: DYY1 can be 91 while 0113 do nTay
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prooftext: v. 10 — 29pnn 20pn > owners are called "a1pn”

observation (7a8): »"aR3, 7tYHR 7 and 8”aw7 all hold that 1 man’s intents can affect another’s acts

(a) »7axT as per above

(b) 7258 1. per his position (contra n'nan) that if a Y81’ performs N NW for a DY, a YRIW’ may not eat
from it, since the " intended 1"y at the time of nvmMw

(c) ~7awT something which is 1wn mna but A was prxn, giving it significance; if B unearths and carries it,
he is liable for naw nx¥n, based on A’s intent

(d) assessment: both "1 and R"2w1 will accept »”ara — if this extentsion of intent holds yina, certainly o292
(i) but:>»"ar1 may not accept either — perhaps he only extends it 0792

(e) and: ®"av1 will accept 8" — if he applies it to naw, certainly he’ll apply it to "y
(i) but: Ry may not apply it to naw; perhaps 1"y is treated 191 13, but naw requires nawnn narvn

IV two related rulings of n'xmn (the first seen against our nwn)

27. if someone slaughtered mw7p DYY DWTP — Y109; PN DYWY — valid (doesn’t affect)

i challenge: »ov "v's ruling that even if he didn’t intend any of it valid > p%mn ow% is invalid
ii  correction (7ax): proper inference — if he intended 151n — valid, but not n¥n (for n’5y1)
77 if he did PYin nwH nvNY — valid; PYIn Dwn (i.e. he thinks its PYIn) — invalid

i per: HYR1mw question of X1 "1 —how do we know that D>wTpa poynn is invalid

ii  answer (77): v. 8 — intent must be for 9pan 12
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response (5810¥): that is known — how do we know that it is 20yn?
answer: v. 9 —1MNan 0aN¥I? is the “2nd mention” which is 20yn
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